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1. The neighbor of a word is a word that differs from it in exactly one
phoneme. All of the neighbors in English of the word “hat” are given in
Table 1 (some words are not common).

Table 1: Neighbors of “hat”

Rime Consonant Body
at hart hack
bat hate hag
cat heart ham
chat heat hang
fat height hap
gat hit hash
gnat hoot hatch
mat hot have
Matt hurt

pat hut

rat

tat

that

vat

1.1 [5%] Explain the three types of neighbors (Rime, Consonant, Body).
For each type, make up a fake English neighbor of “hat”.

1.2 [3%] Table 2 shows the mean number of monosyllabic neighbors of
all monosyllabic English words. Based on this table, does “hat” seem to
show the typical pattern? Explain.

Table 2: Average numbers of neighbors

Rime Consonant Body . Total
7.9 5.1 4.9 17.9

1.3 [7%] Propose a hypothesis expléining the pattern in Table 2. Describe
another prediction that your hypothesis makes for English (besides Table
2). Does your prediction also apply to Mandarin? Why or why not?
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2. Before the 1960s, Central Bontok treated [b] and [f] as allophones of

/b/, [d] and [ts] as allophones of /d/, and [g] and [k"] as alIophones of g/,
as shown in the data below. |

@  [fafa] “lowlands” (k) [?ad?0] “sufficient”

®)  [fab2a] “tooth” ()  [ketsem] “cyelash”

(© [fitiq} “a bundle” (m) [kPawis] “good”

(d)  [nabtiq] “bundled” (n) [kbaglawis] “very good”

(®) [tafa] - “fat” (0 [kteglar] “chew”

® [torfek] “key” () [2ak"ob] “bad odor”

(8) [tsustsun] “locust” (@ {pagpag] “tree, shrub, bush”
(h)  [tsuwa] “two” (1) [sugkPalit] ‘@ kind of spear”
() [sintsudwa] “pair” (s) [qudtgu] “basket for soil” '
() [tsi] “there”

2.1 [5%] In each allophone pair ([b] ~ [f}, [d] ~ [ts], [g] ~ [k"]), the first

“allophone appears in environment X and the second appears in

environment Y. Describe these two environments X and Y in the simplest
possible way.

2.2 [5%] Based on example (i) [sintsudwa], describe a difference between

the syllable structures of Central Bontok and Mandarin. Justify your
answer. |

2.3 [5%)] Examples (r) [sugk®alit] and (s) [qudtsu] violate (disobey) a
cross-linguistic generalization called Geminate Integrity (&-F & #9 %%
). Based on the examples and the name of this principle, what does the
principle state? |
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3. [10%] In the Russian forms in (1)-(3) below, the b-forms are
morphologically derived fror. the a-forms. The a-forms are consistently
composed of an adjective and a noun. In each pair, the two forms have
exactly the same meaning. Describe the general steps to change the
two-word a-forms into the one-word b-forms.

(1)a. vizitnaja kartotka  ‘visiting card’
visiting card

b. vizitka ‘visiting card’
(2)a. marSrutnoe taksi ‘route taxi’
route( ADJ) taxi
b. mar§rutka ‘route taxi’

(3)a. gazirovannaja voda ‘soda water’
gas(ADJ) water
b. gazirovka ‘soda water’

4. [10%] Consider the Dutch sentences in (1) and (2) below. Propose a
general rule that can capture the acceptability contrast between the
a-sentences and the b-sentences.

(1) a. Ik kan me de film herinneren.
I  can myself the film remember
‘I can remember the film.’ '

b. * Ik kan me niet welke  film Ben gezien heefi herinneren.
I canmyself not which film Ben seen has remember
Intended: ‘I can’t remember which film Ben has seen.’

(2) a * lkkanme herinneren de film.
‘ I can myself remember the film
Intended: ‘I can remember the film.’

b. Ik kanme niet herinneren welke film Ben gezien  heeft.
Ican myself not remember which film Ben seen has
‘I can’t remember which film Ben has seen.’
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5. Consider the sentences in (1) and (2) below.
5.1 [6%] Draw tree structures for (1) and (2).
5.2 [4%] Describe the meaning contrast between them.

(1) Seth loaded hay onto the cart.
(2) Seth loaded the cart with hay.

6. Consider the sentence in (1) below.

6.1 [5%] In your own words, describe the literal meanmg and the
metaphorical meaning of (1).

6.2 [5%] Identify the source domain and target domain in the metaphor
used in (1).

(1) RAAEARBACTARB UMY LEE  HAEFRET
g o (RLE (3548) B4-#2012.11.24)
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7. [15%] In Chinese, to express a future situation, words such as jiang (¥§)
or hui (&) are usually prefer.ed. Explain why the sentences with the
word jiang or hui are more acceptable than those without it, as in (1).
However, there are examples where no additional word is required to
express a future event, as in (2). Explain why the examples in (2) are fully
acceptable even without the occurrence of the word jiang or hui.

(a. AREZETH -
vs. TARERT® °

b. RN TEEMS -
vs. PERATFTRERSE -

c. THA » BEGHEHEFEREGR  BRBX -
vs.7FMEA  REGHERISGH BER X -

(2)a. BRF L 5:00 k¥ o
b SRERE > HERAKE o
c. R E » A4S T15 B4s 0 9:00 & & o

8. [15%] Compare the examples of benlai (&%) in (1) to the English

past tense examples in (2). Determine whether benlai and the English past
tense have the same semantic function. If yes, describe this semantic
function. If not, explain how they are semantically different. Please
elaborate.

(Da PERRZEE -
b. NEAAREBNE -
c. hEARBERARE -
d NERARCBERELT -
e. NEARET > RRAEHHE - XBHT -

(2) a. May was a teacher.
b. May liked Hua.
c. May thought about going abroad to study:.
d. Hua already finished his homework.
e. Hua had arrived.



